[ToHaTHe nnowaaun.
[MTnowanb
YeTbIpexyronbHUKOB.



Llenu oby4yeHus:

*3.3.3.9
*3HATb NOHATUE MJ1oWlaan MHOIoyroJibHMKa n ee CBOUCTBA3;
*3.3.3.10

* 3HATb onpeu,eneHm;l paBHOBeJ'II/IKI/IX n paBHOCOCTaBJ'IeHHbIX
uryp;
e8.3.3.11

* BbIBOANTb U MPUMEHATL popMynbl nfoLwagn
napannenorpamma, pomoa;



Kputepuu ycnexa:

* Yyawutcs docmue yenu obyyeHusi, ecrnu:
*— 3HAET MOHATUE NNOLLAAN MHOIOYIOSTbHUKA;
*— 3HAEeT CBOWCTBA NfioLaan MHOroyrosibHUKa;

*— 3HaeT He MeHee ABYX opMYyn ANA Bbl4MCIEHUS nnoLwaam
YyeTblpexyrornbHuKa (KBagpar, NpsMOYroNbHUK,
napannenorpamMmm, pomo, Tpaneuunsi) n BbiBoA O4HOW U3 HUX;

* — MIPUMEHSIET opMYny NIoLWaaun YeTblpexyrornibHMKa (KBaapar,
NPAMOYTonbHUK, NapannenorpaMmm, pomo, Tpaneums)



Problems

* 1) Marco’s family has a garden shaped like a parallelogram. The height
of the parallelogram is 7 feet and its base is 14 feet. What is the area
of the garden?

*2) Find the altitude of the rhombus whose area is 315 cm? and its
perimeter is 180 cm.

* 3) The perimeter of the rhombus is 64 cm and one diagonal has a
length of 20 cm. Find the area of a rhombus.



PeweHue 3apa4

1) CTOpOHa NPsIMOYrofibHMKa OTHOCUTCS K ero AnaroHanu, Kak 4 :
5, a Apyrad cTopoHa paBHa 6. Hangute nnowagb
NPAMOYrofibHU1Ka.

*2) The floor of building consists of 2000 tiles which are rhombus
shaped and each of its diagonals are 40 cm and 25 cm in length. Find
the total cost of polishing the floor, if the cost per m? is S5.

* 3) CTOpPOHbI NapannenorpaMmma pasHbl 8 CM 1 15 CM U yror
Mexay HuMmu 150 rpagycoB. Hangute nnowanb
napannenorpamma.

*4) HanTn cTopoHy pomba, ecrnv ero guaroHanm oTHOCATCH Kak 3 :
4, a nnowiagb paBHa 24 om2.



[lomallHee 3agaHue

1) Hangute nnowanb NPAMOoYyrofnbHUKa, ecrin ero NnepumeTp
paBeH 18, a OTHoLWeHne coceaHMX CTOPOH paBHO 1 : 2.

*2) CTOpOHbI NapannenorpaMmma pasHsl  5cmun 11 cm. Hangute
ero nnowagb, ecnv oauH U3 yrrnoB napannenorpamma paBeH
30°.



